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Gunian Paunt 
Q.1 A1] Do as dirocted: (any 4) 

1. Wite two compound words of your own. 

2. Spot the error: I think you is very nlce really'. 
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3. Find out two hidden words of minlmum 4 letters from: 
4. ldentify the type of sentence: 'Isn't It shocking 1.' 
5. Complete the given word chaln of verbs: scroam 

A.2] Do as directed: (any 2) 

B] Do as directed: (any 1) 

1.Change the following sentenco In Indlroct narratlon. Can I see the manager? I said. 
2. He gave Taffy the shark tooth, (Rowrlto boglnnlng with tho undorllnod part) 
3. Tewara smiled politely.. (Uso past porfoct contlnuous Tonso) 

1. Use the given word as noun and vorb In your own sontencos: fight 
2. ldentify the clauses and namo them. 

generation' 

Although l did not get much sleep last nlght, I don' t feel tred at all 

Q.2 AJ Read the following passage and do tho activltios: 
A1. Say whether true or false and correct the falso statemonts. 
(a) Sometimes people and newspaper seenm mad. 

(b) If you cannot travel, seek out people with whom you disagree 
(c) Many matters are very easily brought to the teet of experlence 

A2. Fill in the blanks with words/phrases from the extract 

(a) Living outside your country helps in -

(b) A good way of ridding yourself of 
(c) This reflection should 

(d) The most savage controversies are about those matters as to which there is veryy good evidence. 

(a) to be prone to 

Dato :14,03,24 
Marks :80 

is to become aware of 

(d) ---are about those matters as to where there is no good evidence. 

Many matters, however, are less easlly brought to the test of experience. like most of rnankind, you have 

passionate convictions on many such matters there are ways in which you can make yourself aware cf 

your own bias. If an opinion contrary to your own makes you angry, that is a sign that you are 

subconsciously aware of having no good reason for thínking as you do someone maintains that twO and 

two are five, or that iceland is on the equator you feel pty rather than anger, unless you know so little of 

arithmetic or geography that his opinion shakes your own contrary convictíon. The most savage 

controversies are those about matters as to which there is no good evidence either way... so whenever 

you find yourself getting angry about a difference of opinion, be on your guard: you will probably find, on 

examination. that your belief is going beyond what the evidence warrants. A good way of ridding yourself 

of certain kinds of dogmatism is to become aware of opinions held in socíal circles different from your 

own. When I was young. I lived much outside my own country-in France, Germany, Italy and the United 

States. I found this very profitable in diminishing the intensity of insular prejudice. If you cannot travel, 

seek out people with whom you disagree, and read a newspaper belongíng to a party that is not yours. If 

the people and the newspaper seem m¡d, perverse and wicked, remind yourself that you seem so to 

them. In this opinion both parties may be right, but they cannot both be wrong This reflection should 

generate a certain caution. 

A3. Use the following idioms/ expressions in sentences of your own: 

(b) to go beyond 

B 

04 

04 

02 

10 

02 

02 

02 

A4.Do as directed. (a) I lived much outside my own country. (Pick out the adjective and adverb) 02 

(b) This reflection should generate a certain caution. (Add a question tag) 

A5.Explain what you feel, is a good way of getting rid of dogmatism. 
02 



Q.2 B] Read the following passage and do the activities: 
Sayed Haider Raza, popularly known as Raza, was a renowned Indian artist. Simple geometric shapes: striking colour combinations, captivating compositions - these are some of the characteristic features of his paintings, and so are the colours blue and orange. You will find them in almost all his paintings. None of his paintings depict lifelike human figures or copies of scenes from his environment. His paintings belong to the abstract style of paintings. Such paintings are not inspired by any external factor. They originate when the artist tries to peep into his own inner mind. They are made by arranging circles. triangles, squares, rectangles, lines, dots in different compositions using effective techniques of applying paint, attractive colour combinations, achieving balance in some places and creating imbalance in other places. Raza found his paintings through his study of Indian art and its heritage. cultural context and philosophy. His pictures seem to radiate peace and life at the same time WVe realise that the painting is a visible form of very deep thought. Very few abstract paintings communicate with the viewers as much as Raza's do. He was honoured with all the three Padma awards Padma Shri ,Padma Bhushan and Padma Vibhushan. with all the awards and honours, his paintings were exploring a spiritual, metaphysical path. Gradually, the 

"'bindu' or point came to be the core of his paintings. He described his work in these Words -'My work is my 
own inner experience and involvement with the mysteries of nature and form which is expressed in colour, 
line, space and light. Sometimes, an artist's thoughts appear to be too complex or even complicated when 

they are expressed through words. For him, the effective medium of communication is his work - his 
paintings, Raza had great creativity. His paintings are very expressive. B1.Give the Characteristic features of Raza's paintings 

Characteristic features of Raza's paintings 

striking 
B2.. (a) List the words related to Geometry. (b) Complete the' sentences correctly. (0) Raza's paintings radiate 

(ii) Form adjectives; 
B4.Do as directed 

simple 

B3.(i) Spot the errors in the spellings and rewrite the words (a) vilage (b) dicided 

captivating-

(a) nature 

(a) His pictures seem to radiate peace. (Forma question to get the underlined word as the answer) 
(b) His paintings belong to the abstract type of paintings. (Use a question tag) B5. According to you, what has made Raza a unique artist? 

When you do something for me that lcan and need to do for myself, 

no matter how irrational, 

Q.3A. Read the following poem and complete the activities: And I can do for myself; I am not helpless. Maybe discouraged and faltering,but not helpless. 
you contribute to my fear and inadequacy. But when you accept as a simple fact that I feel what I feel, 

(a) please listen 

(ü) Raza's paintings are not inspired by 

And when that's clear, the answers are obvious and I don't need advice. 

then I can stop trying to convince you and get about this business of understanding what's behind this irrational feeling 

(e) contribute to my fear 

style--

(b) radiate 

(b) just hear me 

Do's 

Irrational feelings make sense when we understand what's behind them. 

A1. Put the expression given in two tables Do's and Don'ts 

Perhaps that's why prayer works, sometimes, for some people- because God is mute, and he doesn't give advice or try to fix things. God just listens and lets you work it out for yourself. 
So please listen, and just hear me. And if you want to talk, wait a minute for your turn - and | will listen to you. 

() accept that I feel what I feel 
(c) wait a minute 

Don'ts 
(d) need advice 
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2.Explain what you understand from the line 'Prayers work sometimes for some people 
A3 Name and explain the figures of speech: Listen, all | ask is that you listen! 

Q.3.B] Read the following poem and write an appreciation of it with the help of 
the given points in paragraph format: (The title of the poem, poet name, Rhyme scheme figure of speech, central ldea) TANSEN 

Tansen, the singer, in great Akbar's Court Won great renown; through the Badshahi Fort His voice rang like the sound of silver bells And Akbar ravished heard. The story tells 
How the King praised him, gave him many a gem, Called him chief jewel in his diadem. 
One day the singer sang the Song of Fire, The Deepak Râg, and burning like a pyre 
His body burst into consuming flame. To cure his burning heart a maiden came 
And sang Malhar, the song of water cold. Till health returned, and comfort as of old. 

Mighty thy Teacher must be and divine, 
Great Akbar said: magic indeed is thine, 
Learnt at his feet. And said, Then happy Tansen bowed 
Beyond the world's ignoble crowd, 

Scorning its wealth, remote and far-away 
He dwells within a cave of Himalay. 
Could | but see him once, desired the King, 
Sit at his feet awhile, and listening 

Hear his celestial Song, I would deny 
My state and walk in robes of poverty. 

Then said Tansen. As you desire, HuZOor, 
Indeed 'twere better as a slave and poor 

To come; for he, lifted above the things Of earth, disdains to sing to earthly kings. 
Long was the road, and Akbar as a slave 
Followed Tansen who rode towards the cave 

High in the mountains. At the singer's feet 
They knelt and prayed with supplication sweet: 
Towards thy shrine, lo, we have journeyed long. O Holy Master, bless us with thy song! 
Then Ostad, won by their humility, 
Sang songs of peace and high felicity: 

The Malkous Raga all ecstatic rang 

() possibly () supernatural 

Till birds and beasts, enchanted as he sang, 

A4. Do as Directed: 

Gathered to hear, o'er Akbar's dreaming soul He felt the waves of heavenly rapture rol, 

But, as he turned to speak his words of praise, 
Ostad had vanished from his wondering gaze. 
Tell me, Tansen, what theme this is that holds 
The soul enchanted, and the heart enfolds 

In high delight: and, when he knew the name. 
Tell me, again he said, could you the same 

Q.4 A. Read the following passage and answer the questions: 

Theme sing to lure my heart to paths untrod? 
Ah no, to thee I sing: he sings to God. 

A1. Correct the following statements based on the passage: 
() Chocolate was discovered over 10,000 years ago. 
(iü) Chocolate is made from a bean called coffee. 
(ii) Chocolate was kept reserved for prisoners and common men. 
(iv) Chocolate was initially consumed as a salad. 

A2. Mention two beliefs associated with chocolates during the ancient times. 
A3. Write the synonyms for the following from the passage. 

-Hazrat Inayat Khan 

(ii) holy 

When you think of chocolate, you probably imagine your favourite chocolate bar. But when it was first 
discovered over 4000 years ago, it was actually eaten in the form of a bitter-tasting drink mixed with honey, 
vanilla and chilli peppers. Chocolate is made from a bean called cacao, which is grown on trees that are 
original to Central and South America. After the beans are picked, they are allowed to ferment and dry for 
several weeks before being made into chocolate.In the 14th century, the Aztec and Mayan people who lived in Mexico and Central America believed that chocolate had magical properties and hence it was used 
during major life events like births, marriages and deaths. The two cultures also consumed chocolate as a 
drink. They used chocolate at sacred ceremonies and kept it reserved for rulers and priests. In fact, 
chocolate was so popular that cacao beans were used as currency. For example, in 1545, one cacao bean 
could buy a large tomato and 100 cacao beans could be traded for a whole turkey. 

(iv) Beverage 

10 

1. Chocolate is made from a bean called cacao. (Rewrite as an Interrogative sentence) 
2.The two cultures consumed chocolate as a drink. (Change the Voice) 
A5. Eating chocolate has health benefits. Do you really think so? 
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Q4. (B) Write a short summary of the pasSsage gl 

Q.5 Letter Writing: 

Al. A1. Formal Letter: 

Write a letter to the Mayor of your city 

requesting him/her to provide better 
facilities to face water shortage. 

Q.6A. Information Transfer: 

Save Water for Our Survival 

Every year we fncc severe water shortage. Let us: 

* Save every drop of water. * Begin recycling of water. 

*Start rain-harvesting programs, * Prevent wastage in 

households and industries. * Build storage tanks in fields 

and use drip irrigation. * Come, let us join hands to 

Overcome water shortage. 

ii. 

iii. 

Read the following web diagram and write a paragraph about it. 

0V. 

V. 

Motivation 

Confidence 

|Name 

|Date of Birth 

l practices abolished 

Institutions launched 

A2.Read the following text and present the information in a tabular form. 

Languages known 

Q.6 B1 Speech Writing: 

OR 

Pleasure 

Importance of 
Books 

Happiness 

Our first steps in learning 

OR 

A2. Informal Letter: 

Write a letter to your friend describing the 

plight in your city due to water shortage and 
the action to be taken. 

Raja Ram Mohan Roy was a zealous social worker holding modern and progressive views. He firmly stood 
against social bigotry, conservation and superstition and advocated English and Western Education for his 
fellowmen. He knew many languages viz. English, Persian, Arabic, Latin, French and even Hebrew. He 
was born in 1772 in West Bengal. He joined East India Company in 1805. The title 'Raja' was conferred 
on Ram Mohan Roy by the Mogul Emperor. In 1814 he founded the Atmiya S�bha and in 1828 the Brahmo 
Samaj. He abolished 'sati, child marriage and the purdah. He is rightly called the 'father of Indian 
Renaissance" or the "Father of Indian Nationalism'He died on 27 September ,1833 in England. 

Education not restricted to book-learning 
Education helps bring awareness 
Learning is an ongoing process 

Knowiledge 

Inspire 

Prepare a speech on Value of Education' to be delivered to the students of Class |X in your school. You car 
prepare your speech based on the following points: 

Importance of teachers in providing guidance in the formative years 

05 



22 View ICounterview: 
Writs your view regarding, 'Children must play outdoors for at least 2 hours a day' by taking nelp 
of the following Counterview points. Easy access to entertainment through the internet on cell phones. Instant satisfaction can be derived from such entertainment. Cell phones can be used from the comfort of one's home. Social networking is also possible through cell phones. Q.7. A1. Expand the theme: 

OR 

'Actions speak louder than words' 
A2. Report writing: OR 

Your school visited 'Nirmal old-Age Home' Based on the information gathered prepare a report to be published in your school magazine. 
Number of residets/inmates Their age group, Their financial background. 
Reasons for their stay there, Their physical condition, Recreational facilities available to them. 
Q7. B) Developing a story/Narrating an experience. 

OR 

B2) Develop a story in about 80-100 words with the following ending. 

05 

..t was definitely the bravest act that I have ever witnessed in my life. 

05 

B1) Narrate an experience in about 80-100 words with the following beginning. Give a suitable title. 
Shaina worked from home for an investment firm. In the afternoon, she would always leave some of 

the cooked food for a beggar at her kitchen window. 

05 

05 
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Ql.A. Choose the correct alternative: 
1.How much educational cess is payable on the income tax of Rs 11500? 

(b) Rs 230 (c) No educational cess (d) Rs 1150 2.Ajay is younger than Vijay by 5 years Franme a linear equation in x and y. (a) x-2y-5 (b) x=5-2y 

3. 

3.If 3x + 5y= 9 and 5x + 3y=7, then what is the value of x+y ? 
(c) xy=5 

(a) Rs 115 

1 

2. 

(a) 2 
4. What is the mean proportional of 36 and 16? 

Q.B. Solve the following: 

3. 

(a) 24 

$oKAR EDUCATIONAL TRUST 
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MATHSI 
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(b) 16 

QlI.A. Solve the following (Any 2): 

(b) 28 

Find the reduced form of the first quantity to the second quantity: 5 hour; 30 rninute 

QIU.B. Solve any four: 
6 

For the computation of income tax which is the assessment year of financial year 01-04-2003 to 31-03 
2004. 

Under which section maximum permissible deduction amount to various kinds of savings is 1,50,000? 
4. Writè any two solutions of the equation x +y=17. 

Solution: Let 'x' be the number to be subtracted from 13, 25 and 55. 

7x 

5 

21 

(c) 9 

1. Which number should be subtracted from each of the numbers 13,25 and 55 so that the resulting 
numbers would be in continued proportion ? 

Solution: Taxable income of: Mrs Gupta �Rs 4,41,000 

(c) 32 

- 18x 

X= 3 

5x- 3y = 9 ... ." (2) 
Adding equation (1) and (2) we get 

(13 - x) (25 -x) 
(25 - x) (55 � x) 

(13 - x )(55 - x) = (25- x)() 

1. if= then find the value of the ratio 

90 X= 

2. Mrs.Gupta is 48 years old.Last year her taxable income was Rs 4,41,000.How much income tax does 
she have to pay? 

3p-4q 

(d) 7 

3p+4q 

(d) 40 

Educational cess = 9,550 X 

From the table I, Taxable Income is in the slab 2,50,001 to 5,00,000. 
5 

Income tax 

5 

100 

-90 

-18 

(d) 5-y=% 

715 

= 4,41,000 -()x 

(Taxable income - 2,50,000) x 

3.Solve the following simultaneous equation : 2x + 3y= 12; 5x- 3y = 9. 

Solution: 2x + 3y = 12......... (1) 

2 

100 

Secondary and higher education cess = 9,550 x 
Total income tax = Rs 9550 + Rs 191 + Rs 95.90. 

2x + 3y = 12. 

= Rs 9,550. 

6 + 3y = 12 
3y =-6 

2(3) + 3y = 12. 

X= 

5 

100 

DATE: 11/03/2024 
MARKS; 40 

= Rs 191 

Convert the following ratios into percentage i) 15:25. Ii,) 546: 600 

1 

100 

Substituting x = 3 in the equation (1), 

100 

= Rs 95.90 

= Rs 

(4) 

3y = 6 

(4) 

2y = 

2. Solve the simultaneous equation by elimination method. 2m+3n = 13: 5m-4n =-2 

a3 (8) 

(4) 

2x + 3y = 12 ... .... .(1) 
5x-3y = 9 ... . . (2) 

715 - 68x + x2= 625 - 50x + x 
-68x + 50x 



3 
4 

5 

4. The total number of lions and peacocks in a certain zoo is 50.The total number of their legs is 
140.Then find the number of lions and peacocks in the zOo. 

QII.A Solve the following (Any one): 

The ratio of two numbers is 11:13 and their sum is 264.Find these numbers. 
1. 

y= 

7 

Sameera spent 90% of her income and donated 3% for socially useful causes. If she was left 
with Rs. 1750 at the end of the month, what was her actual income? Solution: Let the monthly income of Sameera be Rs. x 

Total monthly expenditure and donation Amount left with Sameera at the end of the month But, Amount left with Sameera is Rs, 1750. 7% of x =1750 

X100 

7 

(3) 
Substituting the value of y in equation (3) 3x + 2()=11 

QIIl.B. Solve any two: 

Therefore, Total monthly income salary of Sameera is Rs. 25,000. 
2. Solve the following simultaneous equation 2x Solution: 2x -y=5 .. .....(1) 3x + 2y = 

3x + 4x- 10 = 11 

OKAR EDUCATIONAL TRUST'S 

7x = 11+ 10 

QIV, Solve any two: 

7x = 21 
X= 

Solve the following : + =4: 5x 

7 

3 

QV. Solve any one: 

.rnlNM SCHOOL 

X+ 6y = 22; 

4 

(90+3)% = 93%o 

6 

3x + 14y= 58 

1. Divide a rope of length 560cm into 2 parts such that twice the length of the smaller part is equal to of the larger part. Then find the length of the larger part. 

1. Find the mean proportional of 

y 4 

x+ y 

y=5 
11....... 

X-y 

93%) 

... (2) 

1. Solve the following equations by equating coefficient of the variables: 

Mr Mohan kept Rs 30,000 in a bank at 9% compound interest for 2 years. Mr Sohan invested Rs 95,000 in a mutual fund for 2 years. After 2 years, Mr Sohan got Rs 1,14,000. Whose investment turned out to be more profitable 

2()-y=5 
6-y=5 - 6 
-y=-1 
y=1 

x2y2 

3x + 2y= 11 

Substituting x=_in equation (1), 

% 

b) Check whether the following numbers are in continued proportion or not.: 3,5,8 

(3) 

2. Mr.Amit spent 8% of his monthly income on his children's education, invested 15% in shares, deposited 5%. in a bank and used 50% for his daily expenses.He was left with a balance of Rs 13,200.Find his 
monthly income. 

(6) 

3. a) Write the following ratios in the reduced form: The length of sides of a rectangle are 5cm and 3.5 
cm.Find the ratio of its perimeter to area. 

(8) 

3 

(3) 

2. Compute the income tax payable by following individuals : Mr Kadam who is 35 years old and has a 
taxable income of Rs.13,35,000. 

Now, 2x-y=5 
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Name: 

IA) Choose the correct alternative and rewrite the statements: 
1) 

a) 

2) In 
a) Plane 

is used to treat hyperthyroidism lodine-123 b) lodine-131 

3) The velocity of sound in steel is 
a) 1531 m/s cb) 5420 m/s 

5) The chemical name of Teflon is 

4) The molecular mass of carbon dioide is 
a) 22 b) 24 

mirror is used in street light 
b) Convex 

B) Solve the following questions 

2) Find out the Correlation: 

1) ldentify the diagram and name it. 

2 

Behind the mirror : 

3. 

1) Biogas is eco-friendly fuel. 

5) Write the chemical formula of Baking soda 

1) Label the diagram 

OKAR EDUCATIONAL TRUST'S 
OMKAR ENGLISH MEDIUM SCHOOL 

I| SEMESTER EXAM 2023-24 

Sub: SCIENCE 1(SET A) 

a) calcium carbonate b) sodium bicarbonate c) polytetrafluoroethene d) Copper sulphate 

2) Teflon is used in non stick cookware. 
B) Solve any three of the following questions: 

4) Write any 2 uses of anodizing 

3) State whether True' or False' and correct the false statement: 

II) A) Give scientific reasons of the following: (any 2) 

III) Answer the following (Any 5) 

No. 

2) Write the harmful effects of deodorant 

1) Complete the following table: 

Sr. Property Alpha rays (a) 

1 Nature 

To create an echo,the minimum distançe between the source and reflector of sound should be 1.7m. 
4) Name the purest form of coal. 

Mass 

Charge 

) Cobalt-60 

1. Torch light 

c) Flat 

3) Explain the difference between Crystalline and Non crystalline form of carbon. 

c) 5855 m/s 

+2 

3. Flood light 

c) 44 

2. Projector lamp 

:: In front of the mirror : real image 

d) Cobalt-90 

d) Concave 

Characteristics of alpha, beta and gamma rays 
Beta rays (B) 

d) 5960 m/s 

d) 42 

3) Limewater turns milky when CO, is passed through it. 

Current of beta (e) 
particles 

Gamma rays (Y) 

2) Describe the positions of the source of light with respect to a concave mirror in 

Date: 16.03.24 
Marks : 40 

Roll No, 

3 

No mass 

5 

4 

6 

15 



3) Comnplete the followving chemical reactions 
1. CaOCI, + CO, 

b) 

2. NazCO, + MgCl: ’ 
3. 2NaOH + CO,’ 

4) Wite any 3 properties of diamond 
5) Write briefly about the three methods of electrolysis of sodlum chloride? 

6) Write the harmful effects of radioactive substances 

V) Solve any ono of the following: 
1) What sign conventions are used for reflectlon from a spherical mirror 

(or) 1) Observe the diagram and answer the following : 

POWDEA 

a) What is the use of CO, in fire extinguisher 
Explain the process in the above mentioned fire extinguisher 

c) Write the chemical equation of the reaction which takes place in fire extinguisher. 

2 

1 
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1 
IA) Choose the correct alternative and rewrite the statements: 

is not a type of nitrogenous base in DNA 
a) Adenine b) Thymine 

satellite is used exclusively for education. 
b) ASTROSAT 

2) 
a) EDUSAT 

3) Rearing of silkworm is called 
a) Poultry farming 

5) 

4) Klinefelter syndrome is a type of 
a) Chromosomal abnormalities 

a) Galileo 
B) Solve the following questions 

1) Give 2 examples of hormones of Ovary 
2) Find out the Correiation: Women: Turner's syndrome:: Men: 

4) Find odd man out: Cartilage, bone, lymph, neuron 

GoKAR EDUCATIONAL TRUST'S 
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3) State whether True' or 'False' and correct the false statement: 

I) A) Give scientific reasons of the following: (any 2) 

2) Label the diagram 

Sub:SCIENCE 2 

b) Sericulture 

1) Mitochondrial disorders are inherited from the mother only. 
2) Epithelial tissues are called simple tissues. 

3) Complete the following table 
Sr. 

No. 

B) Solve any three of the following questions: 
1) Define the term: a) Tissue b) Tissue culture 

(1) 

studied the inheritance of some characteristics of the pea plant. 
b) Einstein c) Newton 

(2) 

5) Write the names of following tissue: Tissue present in the tubules of kidney. 

(3) 

Motor neurons conduct impulses from the sensory organs to the brain and the spinal cord. 

(4) 

disease. 
b) Monogenic 

Organism 

Crab 

c) Floriculture 

46 

3) Without thinking, we remove our hand immediately after touching the hot object. Why? 

48 

c) Guanine 

04 

c) IRS 

No. of 

chromnosomes 

c) Polygenic 

1) Explain the construction of radio telescope. 

d) GSAT 

d) Animal husbandry 

2) Identify the diagram and write it's name, structure and function 

d) Uracil 

d) Mendel 
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4) Explain the difference between refracting telescope and reflecting telescope. 
Il) Answer the following (Any 5) 

4 

d) Mitochondríal 

5 

15 

4 

6 

3) Explain the meaning of biotechnology and its impact on agricultural management with suitable examples 
4) Explain the structure, function and types of RNA. 



5) Complete the following Chart: 

Classification of Plant Tissues 

Meristematic Tissue 

Apical 
Meristem 

Xylem 

Lateral 
Meristenm 

(1mk) 

IV) Solve any one of the following: 

6) Explain the structure and function of different parts of brain. 

1) Study the figure and answer the following questions 

a. What type of telescope is shown in the figure? (1mk) 
b. Which type of mirror does the telescope use? (1mk) 
C. What other type of telescope uses a curved mirror? 

collenchyma 

d. Explain the working of the above telescope. (2mks) 

2) Sickle cell anaemia carrier (AS) 

(or) 

3) Sickle cell anaemia sufferer (SS) 

Permanent Tissue 

Simple 

2) Answer the following questions for the given genotype of sickle cell anaemia 

There are two types of person affected by sickle cell anaemia: 

Concave mirror 

SYMBOLS: AA= Normal, AS= Carrier, SS= Sufferer 

a. Explain the appearance of characteristic in progeny, if both 
the parents are Sufferer of the gene? (1mk) 

d. Write any 2 renmedies for sickle cell anaemia (2mks) 

C. Which gene is responsible for sickle cell anaemía? (1mk) 

Nornal 

Phloem 

Eyepiece 

Light source 

Plane niror 

Light source 

Affected 

b. If one of the parent is Carrier and one is sufferer, then what will be the ratio of expression of sickle cell 
anaemia in next generation? (1mk) 

sullerer 
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Q1. (A)Complete the staterments choosing correct option frorn the brackets; 
1. The United Nations had declared as the Irternational Worner's Year. 

(b) 2000 (c) 1975 (d) 1988 
2. APPLE' was beneficial in the field of 

(a) Military 
3. In 1991, 

A) 

(a) 1992 

Q1. (B)ldentify the wrong pair: 
1.Indigenously built rocket 

2. First Indian Satellite 
3. Headquarters of ISRO 
4. Reactor research Centre 

B) 1.Kamam Malleshwari 
2.Sunil Gavaskar 
3.CNN 

(4) Techniogy 
showed to the entire world a five visual reporting f the Irag Vlat 

(b) HBO (c) CNBC (d) NDTV 

[b)Education (c) Heaith 

4.Star Television 
C) 1. Vinoba Bhave 

2.Chandiprasad Bhat and 
Sunderlal Bahuguna 

3. Dr Phulrenu Guha 
4. Shah Bano Begum 
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Countries in 
which india 

Q2. (A)Complete the concept chart (any two) 

Exports Bicydes 

2 

1.Who was Dr. N .Gopinath? 

Rohini 75 

Immurisatior 

2. The tourism industry has developed a lot in India. 

Aryathatta 
Sriharikota 

2.Who is known as the father of Jaipur Foot? 

Kalpakkarn 
Weight Ifting 
Ace Indian Cricheter 
Irag War 

- Chipko movemet 
- Laatne Morcha 

-Right to alimony 

Q2. (B)Write short notes on: (any two) 
1.The institution of family 2. Second nuclear test 

Q.3.Explain the statement with reasons (any two) 

Sponsoring cuftural prograrnmes 
Bhoodan Movernert 

3. Cricket began to be played all over lIndia, to a greater or smaller extent. 

Q4.Read the following passage and answer the question 

3.Minority 

Dte:21 S24 

3. 

Objectives of 
Newspaper 

A 

03 

3.State the manner in which Jaipur Foot technology in India has transfoned the lives of the disabled 

04 

04 

04 

04 

Public health: The Constitution of India states that the primary duty of the govermment is to raise the people's 

standard of living, to ensure proper nutrition and to improve public health. The ministry of health and Social 

Welfare at the Centre helps the state governments in this regard. To make primary health services as well as 

medical care available to rural people, the tribals and the poor was an objective of the Sixth Five Year plan. 

Efforts were made towards helping people maintain good health by giving recogn+tion to Unani, Homoeopathy, 

Ayurveda and Naturopathy in addition to Allopathy. 
Progress in the medical field has made the life of Indians relatively free of health concerns. In 1962, the first 

successful open heart surgery was performed under the leadership of Dr. N. Gopinath at Christian Medical 

College Hospital at Vellore in Tamil Nadu. Hence, it is no longer necessary to go abroad for such treatment. 

Similarly, the invention of the 'Jaipur Foot has transformed the lives of the disabled in India. Before 1968, if a 

person lost a leg in an accident, he had to suffer for the rest of his life. In order to remedy the situation, Dr. 

Pramod Sethi designed and manufactured artificial limbs, noses and ears, with the help of the skilled 

craftsman Ramchandra Sharma. 

The artificial body parts manufactured with the help of the Jaipur foot technology have made it easy for the 

differently abled to walk bare-foot on rough surfaces, run, go cycling, work in the fields, climb trees, is no need 

for footwear on these artificial limbs. They can bend their legs at the knees and sit cross-legged. These feet 

are also convenient while working in water or wet conditions. 

(a) CNN 

1. The practice of untouchatbility was banned by law. 



Q.5.Answor the following questions in detall (any two) 

1.Describo the Chpko Movenent? 
2.Which kinds of discrlmination does the Constitution prohibit? 

3.Which changes have taken place in the medium of television? 

Q.6-Complete the statomonts choosing correct optlon from the bracket; 

1.The headquarters of the Unlted Nations are at 

(a) San Francisco (b)Goneva 

2.The policy of increasing trade with South-East Asian nations is known as the 
(b)Look East (c) Pact East fá) Act East 

(d) Seek East 

(c) New York 

Q.7. Explain whether the statement is True or False with reasons (any two) 

(a) The status of all the member nations of the United Nations is not equal. 

(b) Sino-Indian relations are friendly. 

Q.8. (A) Explain the concept (any one) 
(a) Indo-Nepalese friendship treaty 

India's neighbouring 
countries 

(d) London 

(c) It is necessary that all the nations should cooperate in order to find remedies on Environmental dearadation. 

Q.8. (B) Complete the concept chart (any one) 

Q.9. Answer in detail (any one) 

(b) Terrorism 

2. 

Global Resources 

policy. 

(a)What is the role of South Asian Association for Regional Cooperation 
(bWrite the reasons for the establishment of the United Nations. 

04 

02 

02 

02 
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